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ALLAMA IQBAL OPEN UNIVERSITY

Level: i&:\\uﬂpj * Matric Semester: Autumn 2018

Paper: Mathematics -1 (247) Maximum Marks: 100
Time Allowed: 03 Hours Pass Marks: 40

Note: ATTEMPT FIVE QUESTIONS. QUESTION # 1 IS COMPULSORY.

Note: Attempt FIVE questions, each question carry equal marks. Question # 1 is compulsory.

Q: 1 Fill in the blanks
@) % in terms of percentage is --------- .
(ii) Zakat is deducted at a rate of ~--------—- _

(iii)On a crop produced on artificial resources, Ushr is deducted at a rate of -=-vn=sn--,
(iv) A machine installed by the bank to dispense cash to customers is called --—=------.

(v) Taxes of the form of duties, motor vehicle taxes are called-r--=~==r---- _
(vi) The logarithm of a number consists of two parts, the integral part is ca.lled-—-fu'—-.
(vit) Ifa, G, bisaGP. then G =-eeeermemmeeaenn .

(vii)If U = {1,2,3,4} and A = {4} then A® =ceereve-mn .

(ix) The co-ordinates of origin are-----------

(x) The middle value of a data arranged in numencal order is called-=----=--,

Q:2 .
(a) A carpenter costs Rs. 720 to make a table. He sells it for Rs. 920. What is the percentage

of profit earned?
(b) A manager plans to produce 100 bicycles with the help of 25 persons working 4 hours
daily. How many bicycles can be made by 40 persons if they work 3 hours daily?
Q:3
(a) Calculate the amount of Zakat on an amount of Rs. 3,00,000, gold of weight 40 grams
and silver of weight 500 grams, where as the rate of gold is Rs. 3500 per gram and the
rate of silver is Rs. 400 per gram.

(b) A trader earns a profit of 20% by selling a chair for Rs. 2700. Find cost price of the chair.
Q:4
(a) The marked price of a book is Rs. 480. The shopkeeper offers a discount of 10% and still

gains 8%. Find the price at which the shopkeeper purchased it.

_(b) Find the compound profit on Rs. 1500 for 2 years at 6%, payable half yearly

Q:5

(a) If the total annual income of a person is Rs. 625000 with exemptmn of amount of Rs.

150,000 then find the tax chargeable @ 4.5%.
(b) Calculate the gross monthly pay of a person , if his basic pay is Rs. 18000, house rent
allowance is Rs. 3500, dearness allowance is Rs. 3000, conveyance allowance is Rs. 1500

and medical allowance. Rs. 500.
Q6

-2
3
(a) Simplify and express with positive indices (Z) - ((;) X (1_é : )

: o 0.9876%(16.42)?
(b) Using logarithmic table evaluate )
(4.567) /3

Q:7
(a) Which term of an A_P. 5,2,-1.... is (-118).
(b) If L = {1,2,3} and M = {2,3,4} then write a binary relation R such that
R={(x,y)|x€lL, y€eM and y < x}. Also write Dom (R) and Range (R). .
Q8 '
(a) For the give data find median and mode .
Classes 60-70 70-80 80-90 90-100 100-110 | 110-120

Frequency | 5 7 10 12 8 3

(b) Find variance of the data given in part 8(a). r\)’i 0 .
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Level: Matric S er: Autumn, 2021
Course & Code | Mathematics-1 (Code: 247) Maximum Muarks: 100
Time Allowed: [ 03 Hours Pass Marks: 40

Nete: ATTHMPT FIVE QUESTIONS, ALL CARRY I;ZOIJAL MARKS."

Questions

1) 1T A. M between a and 10 is 40. then find the value of a.
h) The pesitive G. M between two nombers is 6 and the A, M between then is 10,
Find the numbers. ——

#) Find 1he compound profit on Ry. 25060 for Z%ycars at 4% per annum. 10410
b) if logx = 0.15495 then find the valuc of x.

a) Calculate Zakat on gold of worth Re.8,00,006 cash of amount Xs. 4,00,000
and silver of weight 50 10la (Rs. 5000 per tola). 13410

b} Distribute ft<. 200,000 as 3 profitin a business regarding three persons. if their
shares are in the ratio 3: 2: 5.

&=
[=4

The total annual income of a person is Rs. 6,268,500 and the exempied amount |
is R5.1,80,000. Calculate the nel incommie 1ax payable at the rate of 3.50%. if
the tax deducted at source is Rs. 15,000, . 10410
b} A finaneial institution charges Rs. 55 simple profit on a sum of money which is i

barrawed for five months. Given that the rate of protit is 12% per annum, find
the sum of maeney.

'a) Draw a histogram o represent the frequency table. The table shows the
distribution of ages of 100 people attending school function.
[Age(vears) | 019 | 2039 | 4039 | 60.7_ | 8085 )
LFrequency | 41 | 37 1T IO 6]

b} Find the standard deviation for the Irequency distribution of marks oblained by © 10+10
50 students in Gnglish at a certain examination. Also find the variance in this |
case,

| i \ [ Marks | 20-24 12529 7 30-34 | 3539 | 40.45 1 345-49 | 50-54 i
i :

(Frequency | 1. 4 | 8 | i1 | 15 1 @& | 3 H
Draw the graph by plotting the poiats A(2,0, B(7,0) and C{L8). 1G+ 10
raw the praph c_u!‘_y = 2x -3,

16+10"]
il = L:*!zil'lnd H.When! =13, R=67amdt =25
Prove log, mi" =nlog, m.
¥ind the rutio of & mpees cach 1072 rupees per dozen, L]

11 45% of the students in a school are girls. What is the percentage of boys in

_the school?
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